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A C | p(CA) B C D P(E|C) C E | p(E[C)
XX 0.8 L 0.95 R 0.7
X & 0.2 X & 0.05 R & 0.3
[ 1 0.1 LE R 1 0.9 R 0.0
LRI LR 0.1 LE- NI

& XX 0.8
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A B C D E| pABCDE) [A B C D E| p(ABCDE)
1 1 1 1 1| 00638 Jo 1 1 1 1 0.01995
11 1 10| 00273 [o 1 1 1 0| 000855
11 1 0 1| 00036 [o 1 1 01 0.00105
111 00| 000144 Jo 1 1 0 0| 000045
11011 0.0 01 0 11 0.0
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101 0 1| 00537 [o o 1 01 0.00140
10 1 00| 002304 [o o0 1 00| 000060
100 11 0.0 000 11 0.0

10010 0.0 00010 0.0

100 01 0.0 000 01 0.0

100 00| 009600 Jo 0 0 0 0| 009000
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L HR—IRHGE—T—2 (SVM)
GBS I)LRykT—2 (MLP)
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No.  Dataset ‘Variables RF SVM — MLP — BNC
T Lenses 0.7833 0.7833 0.7833 0.8750
2 Hayes-Roth 0.5742 0.6566 0.7198 0.8333
3 Iris 0.7533 0.8267 0.8267 0.8200
4 Balance Scale 0.8272  0.9088 0.9792 0.9152
5  Banknote 0.8433 0.8819 0.8790 0.8819
6 LED7 0.7191 0.7356 0.7347 0.7325
7 HTRU2 0.9084 0.9141 0.9112 0.9140
8  Breast Cancer 0.7324 0.7284 0.7108 0.7401
9 BCW 0.9677 0.9722 0.9693 0.9751
10  Solar Flare 0.8431 0.8431 0.8402 0.8431

5

5

5

5

5

8

9

10

10

11

11 Wine 14 0.9379  0.9157 0.9382 0.9494

12 Heart 14 0.8407 0.8407 0.8185 0.8407

13 Australian 15 0.8232 0.8435 0.8522 0.8464

14 EEG 15 0.5943 0.7273 0.7288 0.7135

15 Zoo 17 0.7927 0.8909 0.9118 0.9406

16  Congressional 17 0.9522  0.9565 0.9482  0.9698

17 Pendigits 17 0.6887 0.9446 0.9430 0.9344

18  Letter 17 0.3724  0.6606 0.6602 0.6297
19 0.7486 0.8043 0.8390 0.7905
%g 0.6675 0.8255 0.8338 0.8277

19  Lymphography

20 Image Segmentation

21 Hepatitis 0.8250 0.8625 0.8375 0.8000
average 0.77120.8344 0.84120.8463
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